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When Merge Competes with Move
(1 )
a.
*
There seems someone to be in the room. 

b.

There seems to be someone in the room. (Chomsky 1995)

Assume we have built the following structure:

(2 )
[T’
to be someone in the room]
(3 )
At this point, we have two options: (i) Merge of the expletive there into TP Spec and (ii) 


Move someone to TP Spec. 

Option 1 (irrelevant steps of the derivations are omitted)

(4 )
a.
[TP
there [T’ to be someone in the room]] 


(Merge there)

b. 
[VP
seem [TP there [T’ to be someone in the room]]] 
(Merge seem)


c. 
[TP therei [VP seem [TP ti [T’ to be someone in the room]]]] 
(Move there)
Option 2
(5 )
a.
[TP someonei [T’ to be ti in the room]] 


(Move someone)

b. 
[VP
seem [TP someonei [T’ to be ti in the room]]] 

(Merge seem)


c. 
[TP therei [VP seem [TP someonei [T’ ti to be in the room]]]] 
(Merge there)

(6 )
a.

Merge: “takes two syntactic objects (α, β) and forms K (α, β) from them.” 


b.

Agree: “which establishes a relation (agreement, Case checking) between an LI α and a feature F in some restricted search space (its domain).”


c.

Move: Agree + Merge + generalized “pied-piping” 











     (Chomsky 2000:101)

Merge Over Move
(7 )
“Good design conditions would lead us to expect that simpler operations are preferred to
more complex ones, so that Merge or Agree (or their combination) preempts Move, which

is a "last resort," chosen when nothing else is possible.” (Chomsky 2000:101-102)

(8 )
Merge is a proper subpart of Move, hence, simpler than Move. 
(9 )
Given Merge over Move, Option 1 (cf. (4)) is the only option to continue from (2). 

(10 )
The calculation of the complexity is local. The two derivational options involve the same 

total number of application of Merge and Move. 
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